)
cosz — 1

b) v —
)y cosz + 1
(¢) y=sinx — 3cosz
(d) y==zlogz
(€) y=e'"2"
(f) y= e

1
(&) y= tanx

1
(h) y =sin—

) v =2ty

() y = VasinVz
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(a) J(x) =log(1 +2°) (2 =0)

(b) @) =sinz (@ =3)

1
©) f#) = = (=0

et > 1+ REFHAE &,

.z >0 D& T 2 > sin2z #AFIAYE &,

Lo BEBETDEE, ) )

cosr sinzx
2729 x & K (0, m) 1IZW<2H5h, (B¥ b y=1/cosz+1/sinz
D757 EHL)
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(a) /(235 ) (a? — 224 2)° da

eQm
(b) / T o dx

2x

(C) \/ﬁ dx
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(©) /2+logxdx

T

7. ROERD 2RO &,
/2
(a) / (22 — 3) cosz dx
0

(b) /0 z(x —2)° dr

logS 1
c de (Y hMt=+y1+er &L,
(c) s VITE ( )

1
(d)/ -2+ xdx
1/2
1
(e)/log(a:+ l+at)de (Vv bt=az+V1+a22 £EE, 2 %1t
THS )
b
() /(zfa)(xfb)dx

b
() / (z — a)(z — b)* de
8. RO ZE ¢ BiDOEI D IZEFE L TTX B IMABRDMEEZ KD &
(a) y=2-2" (—V2<2<V2)

(b) y=cosz (0<z<7)
(c) y=+re™® (0<z<log2)

9. y=22 ¥ y= T CHENARGE ¢ WOE D ICEEIETTE 5
RO KRZE R &,



